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B-Tree-Insert(T,k)
e r<root|T]
o If n[r]=2t-1
» Create new root s and split r under it
» B-Tree-Insert-Nonfull(s,k)

o Else
» B-Tree-Insert-Nonfull(r,k)
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B-Tree-Insert-Nonfull(x,k)
e i< nlx]
o If leaf]x]

 Find correct place and insert value k

e Else

» Find ¢,[x] - child of x into which recursion continues
o If n[c,[x]]=2t-1

Split ¢,[x]
 B-Tree-Insert-Nonfull(c;[x],k)
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P< (YOP) MNP OONNYN NOYD YINN
While (p!=root) do

e p<p.parent

o If (p.key>x) then

« xis found in left sub-tree so search there

End while

J
We got to the root so perform regular find \

> Max. O(logk)
iterations

O(k) elements in sub-tree > O(logk) search







